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Chapter S Stereochemistry, Part 2 — Practice Problems R
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(a sugar/carbohydrate) view so that groups on L/R Fischer
are pointing toward you projection

Draw the given compound as a Fischer projection, and on the provided skeletons:
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2 Il. Revisited: assigning R/S configuration if group #4 is in the plane (5.3).

OH OH H
OH HO : CH,0H
CHg)\‘/ “/A“‘CH?, EHa/K;H 2
#4 |s dashed #4 1s wedged #4 1s planar
s0 1-2-3 50 3-2-1 so change POVI

Group work: assign configuration for the following compounds. Show your work.
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Is the following molecule optically active? Cl
Does 1t have an enantiomer?

What is the relationship of the following pairs of compounds? try SkillBuilder 5.6

A) constitutional (structural) isomers
B) enantiomers

C) diastereomers

D) the same compound

E) unrelated
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What is the relationship of the following pairs of compounds?

A) constitutional (structural) isomers
B) enantiomers

C) diastereomers HOy,,,
D) the same compound
E) unrelated H H’DH
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Draw the given compound as
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Determine the configuration of each compound.
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Is the following molecule optically active?

3
Does 1t have an enantiomer?
Cl
Cl
A) It 1s optically active and 1t does have an enantiomer.
B) It 1s NOT optically active but 1t does have an enantiomer.
C) It 1s optically active but it does NOT have an enantiomer.
D) It 1s NOT optically active and 1t does NOT have an
enantiomer.
6
What is the relationship of each of the following CH-CH
molecules to the given compound? H ;r 3
(e.g., 1dentical, enantiomer, diastereomer, H
constitutional 1somer, unrelated) 3
CH,CHs CH, Br H
Ber BriﬁH HﬂjCHEGHa CH3CH2+CH3
Hy H,CH, Hy Br
A) identical 1dentical 1dentical 1dentical
B) enantiomer 1dentical enantiomer enantiomer
C) enantiomer 1dentical enantiomer 1dentical
D)  1identical enantiomer identical enantiomer
E) enantiomer enantiomer enantiomer enantiomer




